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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 1 ] ] ] I I

3500 —>— EcFzExp :
3000 4- —>¢—  ECdef

—>— water_ec |

2500 ' oo :

Jﬂﬁﬁéﬁﬁ%ﬁﬁé 1

2000 :

I

§?€ |

1500 I

xme?x( !

1

1000 1

1

Warning: col| ['EcFgro’, 'EcPltng’] is missing

500

25

50

75 100 125 150 175



Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AE_E1
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o T obs
25 1 o To_obs
20
108 3
4
80
60_ — RH
o RH_obs
40 - [ J RHo_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



49.

48.

48.

47.

47.
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49.

48.

48.

47.

47.

46.

44 -

——

660 860
m=580,n FV0=0

—0—

M_E
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m=770,n FV0=0
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M_E
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48.
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46.

49.
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47.

m=405, FV0=0

48 A

47 -
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45 -
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—o—

M_E

T
405

4%0 4i5
m=640,n FV0=0

—o—

M_E

T
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m=810,n FV0=0
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M_E
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815 820

49.

48.
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46.

46.

49.
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47.

47.

m=440, FV0=0

—0—

M_E
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445 450
m=690,m FV0=0
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M_E

T
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695 700
m=850,n FV0=0
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M_E
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855 860
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49.
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47.
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49.
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m=513, FV0=0
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M_E
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P6AE

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:15 327 160.0 3.136 F BRige07:15 Bz (GRAERESE)
07:55 327 160.0 3.136 S| {Rig@07:55 B (RAERSE)
08:55 327 160. 0 3.136 E  1BRi&e08:55 BE1 (RAERE)
09:40 327 160.0 3.136 (Z=| {Ri%@09:40 Bzh (FAERHSE)
10:15 327 160.0 3.136 (Z=| 1Ri%@10:15 Bz (REERSE)
10:50 327 160. 0 3.136 |Z=| 1Ri&e10:50 Bzl (GRAERE)
11:25 327 160.0 3.136 |Z=| {Ri&et11:25 Bz (GREERSE)
12:05 327 160.0 3.136 (Z=| {Rig@12:05 Bz (RAERSE)
12:40 327 160.0 3.136 (Z=| {Ri%e12:40 Bz (KRAERSE)
13:15 327 160.0 3.136 5| {Ri%e13:15 Bz (GRAERSE)
13:50 327 160.0 3.136 = RRiB013:50 B (RFAEESE)
14:25 327 160. 0 3.136 E BRige14:25 Bz CGRAERESE)
15:05 327 160.0 3.136 El 1BRi&e15:05 Bz GRAEREE)
15:45 327 160.0 3.136 = RRiB015:45 B (RFEAEESE)
16:40 327 160.0 3.136 (Z=| {Ri%e16:40 Bz (RAERSE)
2it] 4905.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 5.5

EREHTERRA (0.93) , BEE

MEREHER 2 STHAE AR (301.0 : 160.0), FAIREKREERE
BRIASERRIERE160. 0 ml.

#[EKECE (2180.0 vs 3695.0) 15

ERGEERIPH (6.6) S5iRE(E (5.5) REKK, FHRE.
LRGERIPH (6.6) SHRAVEE (5.5) RERK, FRE.



FRV (ml plant-1)

P6AE_E1, Day=54 (2025-05-29)

150 -

100 A

50 -

VI, V4RV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 2179

2400 2300
959 248

33 Warning: lcol [FVI',| "FVO’'] missing 00

74 2000

- 4000

0.6 -
0.4
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2800
TargetEC=2600. 0,  TargetSetEC=2080. 0 —>—  ECBx10%
2200 - ° ® ECC
° °
O S L T ST S x—x—x—‘—k—:—-—i—i—x—‘—i—%—x- -------------------------
e ©
2000 -
1900 -
6.5 4 o' o o 06 06%0 06 060600 o °® y
: TargetPH=6.5, TargetSetPH=5.5 —>—  PHB*10%
® PHC
6.0 -
T S R N e e o e T
5.0
400 1 0
= Bylnit @D56 05:17: ET=?349 Fg=3040. 0 Ro=709.0 ¢ 4000
< 300 - I
S I & e e o L 3000
£ 200 4 - ~
: | i1l
£
A I
. 100 i o II >~ - 1000
Ll 1 \
1
408 75 1 2'3 4 5 6 7 8 9 [0 11 12 131416 17819 ]2]21]2]23]°
— HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 HEE Hi HHE E3 ES ES == E3 ES ES B 4000
;- B B B B B B B B B B B B B B B B B B B B B B B B
S 300 - ]
%_ ByEt @D54 19:04: ET=2015 Fg=2240. 0 Ro=nan : - 3000
~
£ 2001 /'/I\I 28— —8—8% | .00
£
E100— - 1000
400 4 2 2—=2 \l\v‘ 0
0 | 1 2 | 3| 45 6] 7 81 9 1011 [12] 13141516 ] 17 [ 18] 19 ] 20 21 | 22 | 23
= | M | M | m | m | # | % | % | B [5a|3n85n 85 & | & | B [Z=| W [ B [ B W88 [5a] 00
S 300 - i
%_ ByWoFv @D56 05:17: ET==874 Fg=2400. 0 Ro=561.0 - 3000
~
L | 1 ) . @ e @ © @ ©
izoo ! // e e e © L 2000
£
~—~ I
E100— : III - 1000
1 \\\\\\\\\\
1.0  —— — 0
0 | 1 2 | 3| 415 6] 7 81 9 [10] 11 [12]13] 141516 ] 17 [ 18 19 ] 20 21 [ 22 [ 23
0ol FE | W | M | & | W | W | | M | & 27|52 B 57| B | B | M [Ba| W | M| B W] 8 | 2=
0.6 -
0.4
0.2 -
0.0
1500 4 —_ u

1000

500 -

[ ] | _obs
—@— PPFD obs
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RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



T
600
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m=595,n FV0=0

T
1000

49,

48.5

48.0

47.

47.

46.

—o—

M_E

660 665
m=745,n FV0=0

49.

48.5 -

48.0

47.

47.

46.

46.

745

750 765
m=890,n FV0=0

49.5

49.

48.5

48. 0 -

47.

47.

49

48

48

47

47

46

49.

49.

48.

48.

47.

47.

46.

m=450, FV0=0

47 -

46 -

45 A

44 -

M_E

T T
450 455 460

m=635,m FV0=0

.01

.91

.04
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—o— M_E

T T
635 640 645

m=790,m FV0=0

48 -
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—&— M_E

790 795 800
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47.
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48.

48.

47.

m=500, FVO0=0
—e— ME
5 -
0 -
5 -
0 -
5 -
560 565 5%0
m=670,m FV0=0
0 —0— ME
5 -
0 -
5 -
0 -
5 T T T
670 675 680
m=820,m FV0=0
—0— ME
0 -
5 -
0 -
5 -
0 -
850 8é5 8é0
m=1005n FVO0=0
-— ME
5 -
o -
5 -
0 -
5 -

1010 1015

49.
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46.

49.

49.
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47.

47.
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47.

47.

46.

m=530, FV0=0

—o—

M_E
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m=705,n FV0=0

—o—
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7%0 7%5
m=855,n FV0=0
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860 865




hour

100

80

- 60

- 40

’%
@ i
‘*@»
I
@
e
G%ﬁg
/&@(
A
2y
T [ [ (R

T

R
2 P



P6AE

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:10 327 160.0 3.136 F[ BRige07:10 Ba1 (CGRAEREE)
07:50 327 160.0 3.136 S| {Rig@07:50 B (RAERSE)
08:50 327 160. 0 3.136 E  1BRi%e08:50 B (RAERE)
09:35 327 160.0 3.136 5| 1RiR@09:35 Bz (KREAEES)
10:15 327 160.0 3.136 =l {Ri%e10:15 B3 (GRAERSE)
10:50 327 160. 0 3.136 F BRi%e10:50 Bz (GRAERERE)
11:25 327 160.0 3.136 S| {Ri%e11:25 Bz (GRAERSE)
12:00 327 160.0 3.136 =l {Rige12:00 B3 (RAERSE)
12:35 327 160.0 3.136 E BRige12:35 Bz (GRAERESE)
13:10 327 160.0 3.136 S {Ri%e13:10 B3 (GRAERSE)
13:45 327 160.0 3.136 = RRiB013:45 B (RFAEESE)
14:20 327 160. 0 3.136 E BRige14:20 Bz CGRAEREE)
14:55 327 160.0 3.136 El BRi&e14:55 Bz GRAEREE)
15:30 327 160.0 3.136 =l RRiB015:30 B (RFAEESE)
16:10 327 160.0 3.136 =l RRiBe16:10 Bz (REAKEE)
2it] 4905.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 5.5

EREHTERRA (0.93) , BEE

MEREHERE STHAE RS (296.0 : 164.0), AIREKREERE
BRIASERRIERL164. 0 ml.

FEERECE (2137.0 vs 3552.0) i3

LRGEEIPH (6.5) H5i&E@E (5.5) REKKA, BT,
LRGERIPH (6.5) SHRAVEEW (5.5) RERK, FRE.



P6AE_E1, Day=53 (2025-05-28)

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

150 1—y1, v#BPRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 4545
- 4000 T
100 - o
843 894
50 | 2000 z
67 Warning: lcol ['FVI',| "FVO'] missing 33
0 - L 60
( o vi — ME f#
300 - ERY maxM -L 48
200 - - 46 :
I A
1.0 42
U
0.8
0.6
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
2800 7
TargetEC=2600.0, TargetSetEC=2080.0 —%—  ECBx10% f*
2200 - ® ECC
S LT ST S TP S x—-—x—x—)<—x—k—)'<—)'<—y—)'<—‘—)<—x—- -------------------------
e e
2000 Sle ¢ ®
1900 -
6.5 ¢ o _ o _—eocse09e oo o A
TargetPH=6.5, TargetSetPH=5.5 »—  PHB*10%
® PHC
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T N R
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; - 4000
Bylnit @D56 05:17: ET:?192 Fg=2720.0 Ro=557.0 t —
300 - , L 3000 £
I & e e e e o 2
200 | /J\/ —o——o—© N
i | I/'/ - 2000 E
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100 4 : - I I I ‘I | 1000 2
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300 ] L 3000 £
ByEt @D53 19:04: ET=2121 Fg=2400. 0 Ro=nan ° ‘l ° o ° ° %_
N ///\/\/\ ——e——0 | 5000 =
1
1 -
100 i 1l N i L 1000 &
1 o
1
Y — a— — ]_IL N 9
0 1 2 1 3] 4] 5 6 7 8 | 9 [ 10| 11 [ 12 13 ] 14 [ 15 [ 16 [ 17 | 18 | 19 | 20 | 21 | 22 | 23 [ %000
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300 , L 3000 £
ByWoFv @D56 05:17: ET==894 Fg=2400. 0 Ro=530.0 ° o ° ° %
200 - : N T —6—e—6—o | 00 =
1
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100 ~ i 1 - 1000 E
1 o
1
1 0_:’  —— — \\ 0
: 0 1 2 1 3] 4] 5 6 7 8 | 9 [ 10 11 ] 1213 [ 14 ] 15 [ 16 [ 17 [ 18 [ 19 [ 20 [ 21 | 22 | 23
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|
| _obs
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80 -
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404 @ RH_obs )
[ ) RHo_obs




48.

47.

47.

46.

46.

49.

48.

48.

47.

47.

46.

46.

m=435, FV0=0
49 _ 47 ) + M_E
48
46
47
46 45 -
45
44
44
43 B T T T T 43 T T T
400 600 800 1000 435 440 445
m=585,m FV0=0 m=620,m FV0=0
48
—o— ME ol & ME
47.5
47
47.0
46
46.5
46.0
45
T T T T T T
585 590 595 620 625 630
m=730,m FV0=0 m=765,m FV0=0
—e— ME 48.514 —8— ME
0 -
48.0
9] 47.5
0- 47.0
46.5
5 -
46.0
0 i T T T 45 5 B T T T
730 735 740 765 770 775
m=865,m FV0=0 m=910,m FV0=0
017 —o— ek 49| —@— ME
5 -
0 N 48 .
5 -
0 47
5 -
46
0 -

870 875

910 915 920

48.

47.

47.

48.

47.

47.

46.

46.

45.

48.

48.

47.

47.

46.

46.

49.

48.

48.

47.

47.

m=475, FV0=0

M_E

T T
475 480 485

m=665,m FV0=0

—o— M_E

6%0 6%5
m=800,n FV0=0

800 805 810

m=950,m FV0=0

—o— M_E
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s

950 955 960

48.5 4

48.0 A

47.

47.

46.5
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48.0 A

47.

47.

46.5

46. 0

45.5 -

48.5 -

48.0 A
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49.5 4

49.0 A
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47.
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m=700,m FV0=0
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P6AE

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:25 327 160.0 3.136 (Z=| {Ri&@07:25 Bzh (FAERHSE)
08:00 327 160.0 3.136 = {RRi8008:00 Bz (RFAREE)
08:45 327 160. 0 3.136 E  BRi%e08:45 BE1 (RAERRE)
09:35 327 160.0 3.136 (Z=| {Ri%@09:35 Bzl (FAERHSE)
10:15 327 160.0 3.136 |Z=| {Ri&e10:15 Bz (REAEZBE)
10:55 327 160. 0 3.136 |Z=| 1Ri&@10:55 Bzl (GRAERE)
11:30 327 160.0 3.136 |Z=| {Ri&e11:30 Bz (REERSE)
12:05 327 160.0 3.136 |Z=| {Ri&e12:05 Bz (REEZEBE)
12:40 327 160.0 3.136 |Z=| {Ri&e12:40 Bz (REEZEBE)
13:10 327 160.0 3.136 FE| 1BRi&@13:10 Bzh (GRAEREEE)
13:45 327 160.0 3.136 FA| {Ri%@13:45 Bz (GRAERE)
14:20 327 160.0 3.136 FA| 1BRi%@14:20 Bzh (RAERESE)
14:55 327 160.0 3.136 FA| {Ri%@14:55 Bz CGRAERESE)
15:30 327 160.0 3.136 |Z=| {Ri&e15:30 B (REAEZBE)
16:10 327 160.0 3.136 |Z=| {Ri&e16:10 Bz (REAEZEBE)
2it] 4905.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 5.5

HREFIRRA (0.93) , FEE

MEREHER 2 STHAE RS (296.0 : 160.0), FAIREKREERE
BRIASERRIERE160. 0 ml.

#[EKECE (2100.0 vs 3520.0) 5



P6AE_E1, Day=52 (2025-05-27)

150 1y71, V0, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 4811
3652 - 4000 T
100 ©
2600 2560 =
1900 921 _
50 967 —ZOOOE
67 Warning: lcol ['FVI',| "FVO'] missing 67
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n
+
C
©
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[
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U
0.8 -
0.6 -
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0.2 -
Warning: lcol ["WC1',  "WC2'] missing
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2400 - ® ECC
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2200 - ¢ e,
2000 -
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e o o
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R e a e e e © >
£ 200 - /-/'/'—/\/\ —o—e—o—© |, E
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— 100 1 . 111 I_I\ - 1000 5
1
Y e e —— B 2 0
4004 O 1 2 3 4 5 6 7 8 9 [ 10 [ 11 [12 [ 13 ] 1415 ] 16 17 ] 18 ] 19 ] 20 [ 21 | 22 | 23
o 2o |26 |25 2525|2525 25| B [ 25|25 |25Z25| B | B (25|25 |25 25123525 B 5 &I 4000 -
c 1 c
= %% ByWoFy @D56 05:18: ET=1921 Fg=2400.0 Ro=464.0 | 3000 &
~ ~N
- 1 —
E —
— 100 - . il ' i
= I \ - 1000 3
10_!:’ L ! 4 I_I]_I \ 0
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0.6 -
0.4
0.2 -
0.0
1500 - - | t
[ ] | _obs
—e— PPFD
1000 - _obs
500 -
0
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10 -
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RHo_obs
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40 -

T T
800 1000

m=605,m FV0=0

T
600

47.0

46.5

46.0

45.5

45.0

44.5

M_E

GiO 6%5
m=750,n FV0=0

47 -

46

45 -

44 -

755 7é0
m=885,n FV0=0

48.0

47.5

47.0 -

46.5 -

46. 0

45.5 -

—o— M_E

i
B
i

890 895

47.

46.

46.

45.

45.

46.

46.

45.

45.

44,

44.

48.

47.

47.

46.

m=470, FV0=0

—e— ME
44 -
43 -
42 -
41 -
470 475 480
m=635,m FV0=0
04 —&— ME
5 -
o .
5 .
0 .
635 640 645
m=790,m FV0=0
—e— ME
5 .
0 _
5 .
0 .
5 .
0 .
790 795 800
m=915,m FV0=0
—e— ME
0 _
5 .
0 _
5 .

915 920 925
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46.

45.

45.

44,

44,

47.

47.

46.

46.

45.

45.
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47.

m=525, FV0=0
—e— ME
46 -
45 -
44 -
525 530 535
m=675,m FV0=0
54 —@— ME
0
5
0
5
0
675 680 685
m=820,m FV0=0
1 —o— ME
0
5
0
5
0
820 825 830
m=945,m FV0=0

—o— M_E

950 955
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45.
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47.
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45.

45.
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44.
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47.
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45.
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48.

47.

47.

47.

m=565, FV0=0

M_E

5%0 5;5
m=710,m FV0=0

7%5 7é0
m=850,n FV0=0

—o— M_E

iy

855 860
m=975,n FV0=0
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75 A

50

25

00 -

75 -
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m=1010, FVO=0

- ME
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